Installation and Operation Instructions

HD3DS Series Drip Shield for
Model HD3D Unit Heaters

& CHROMALOX

Advanced Thermal Technologies

PF927
161-306451-003
December 2017



HD3DS Series Drip Shield for Model HD3D Unit Heaters

Package Contents

A. (1) Drip Shield

E. (1) 1/2” Knockout Seal

e

B. (2) 1 x 5/8 SST Flat Washer

F. (1) Bracket Adapter (20-35kW)

C. (5) 1/4-20 x 1” Machine Screw

N

G. (1) 5/8-18 Jam Nut (20-35kW)

D. (5) 1/4-20 Lock Nut




Step 1 Step 2a

Remove front grille by removing two sheet metal screws on 1. Install Bracket Adapter (F) according to document PF926
left and right side of case. (optional on 2-20kW and included with 25-40kW)

Step 2b
1. Install Drip Shield and line up 4 holes

Step 3 Step 4
1. Install (4) 1/4-20 x 1” Machine Screws (C) in front hole by 1. If using swivel bracket, install (1) 1 x 5/8 SST Flat Washer
pushing up through case on top of drip shield.

2. Secure with (4) 1/4-20 SST Nuts (D)




Common Parts UNIVERSAL WALL/CEILING
MOUNTING BRACKET

2-18 JAM NUT

(4) B HOLES FOR
WALL OR CEILING
MOUNTING

WA4eR™®

USE THIS

USE THIS HOLE FOR
HOLE FOR WALL
CEILING MOUNTING

MOUNTING

EXISTING i—ZO STUD "A”

DRIP
SHIELD

FRONT OF HEATER

Part Kilowatt Drip Shield Bracket
Number Description Rating P/N Adapter Jam Nut

046907008 Washer - Flat, S300S, 1-1/8 X 0.656" 2 2-7.5kW 305547001

048849019 Screw, 1/4-20, 1" Long 5 10-20kW 305547002 NA NA
049592061 Nut-NWA, 1/4-20, SST, 7/16 Flat 5 25-40kW 305547003 303577026 075472054
048026009 Plug Button 1

Limited Warranty:
Model CXH heaters include a 3 year limited warranty.
For details regarding warranty coverage, please refer to the Chromalox limited warranty at
http://www.chromalox.com/en/about-us/policies/terms-and-conditions-of-sale.

Chromalox
103 Gamma Drive
Pittsburgh, PA 15238
(800) 443-2640
www.chromalox.com

© 2017 Chromalox, Inc.



